BXigE . TEEELV EXMEDORERE BYSIRRE

- FEREET)) BABEET)
BE | &5 [ S%R| BE | 55 | SHR
= 3000 620 620 40| 120 120
BIRTE 3,700 3,700 3700 3,600 3600 3600
R 42,000 41,000] 41,000] 130,000] 130,000 130,000
B{ERHHAR 150 140 140 20 20 20
BEt #0949 000 ¥351, 000 [#35. 000 #3134, 000 #3134, 000 #7134, 000
WEEEICHII D FED
BRSNS
7 S TN % ,l‘\ﬂﬁ =
B (ki) s | SR 2

| — | 60 2] — | %

mEE | 10| 30| 20 — | 340

AbigET | 160 40 380[ — | 580

@Em | 120|200 5400 10] 3,300

FeRET | 580 250] 3,200 — | 4,000

BEET | 380 320 3500 10] 3,200

dBsET | 30| 0] L400[  10] 1,900

llssT[2,400] 610/24,000]  60]27, 000

AT | 0] 190[ 3,700 — | 4,200

WA | 330 40| 560 — | 910

mEE | 160 20 310 — | 4%

)EET | 40 — | 10 — | o0

GRET | 120 30| 440 10| 600

ADOE | 150 40] L600|  20] 1,900

BOET | 160 140] 2,100[ 10| 2,400

WWET | 170 150 5,900] 20| 3,200

BOZET_ 0] 290 3,200 — | 3,500

e | 10| 60| 690 — | 760

BEE | 30| 190 250 — | 2700

ORI | — | 10[ 1100 — | 1,200

EEE | — | %0 18] — | 210

Eivm | — | 280[13,000( — [13,000

SN | — | 250830 — | 8600

BAIm | — | 32014000 — 14,000

Zgm | — | 540 5900 — | 6,50

pEm | — | 20 3400 — | 3,400

WME | — | — | 010 — | 910

mal | — | — | 0] — | 3%

ER#E | — | — | 2100 — | 2100

NEET | — | 703900 — | 4,000

AET | — | 30 2600[ — | 300

BEET | — | 20 30000 — 3,000

EAEm | 110] 160046000 10/43,000

T | 10 510[1L,000]  — (12,000

AEPET | — | 20] 2000 — | 2,200

ApE | — | 0 280 — | 3m

BEET | — | 10| %0 — | 4%

wEE | — | 10 — | — | 1

XTEEE HABEETT)VDEE 0N TIREED

BADD

D7z ECEl

XIUERADBIR TEENEORVWEEDHD




